A force i acting on each of the ohjects helow.
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W hat can he concluded ahout these brees?

A  They are the sarce because they poird tosvard
the oljects.

B Thew are the sare because they hawe the
zame rnagratade.

C  They are different because they have
different ragnitades.

D They are diffent because they have
different directions.
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Two students are pushing a cart,as shown
helow.
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The cart will mowe as if it were acted on by a
sing le force with a magnituda of

A 30N
B 150N
C 20N
D 350N

20 N to the
right

A hall i dropped from the top of a tall huilding.
Az the hall falks, the upward force of air

resis ance hecomes equal to the downward pull

ofgravity. When these two forces hecome equal

in magnitude, the hall will

A flatten due to the forces.
B fall at a constant speed.
C  contrme to speed up.

D slow to astop.
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Four forces are acting on a hax,as shown below
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10 N upward

This hox will increase in spead

A  downward and to the left.
B dowmnward and to the night.
C  upward ard to the left.

D  upward ard to the nght.



A force of S N & required b increase the spead

of a hox from a rate of 1.0 = © 30 = within
s s

5 sz along a level surface. What change would
most likely require additional bbree b produce

the same resulE?
A mduce the mass of the box
irerease the roass of the box

B
C  roake the surfaces of the box stacoth
D rake the surface of the floor sroooth
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What i the density ofa 64-g iron cube that
displaces 8 mL of watar?
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A piece of pine wood floak on the surface of a
kake hecause the water exarts

A anpward fores equal to the weight of
the wood.

B adovmward force equal to the weight of
the wood.

€ anupward foree equal to the weight of the
displacernert water.

D adownward force equal o the weight of the
displacernert water.
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The following tah ke s hows propertes of bur
differentsample materiaks. One of thesa
materiaks i cock,a type of wood that floats in
walero

Physical Properbes

ﬁﬁmg:; Mass | Volume
i &g | 10mlL
2 g | 10mL
3 24g | 100 mL
4 160g | 100 mL

Given that the density of water is 1 -EL—, which
of the amples & mosé likely cork?
A

Bow o

B
C
D
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